Which one of the following is not a macro directive
A)SLDA B)LCLA  C)GBLA D) SETA

Most of the time the way we use to specify the arguments to a macro call is

A) positional Arguments B) Keyword arguments C) dummy arguments D) label Arguments

DC H’2°,B’0010°  the length of the instruction will be
A) 5 bytes B) 3 bytes C) 2 bytes D) 6 bytes E)1 byte

MDLC is
A)Macro definition length counter  B) Macro definition load counter

C) Macro definition level counter D) Macro definition label counter

One of the following is not a disadvantage of Compile & go Loader
A) Wastage of memory B) Retranslation

C) Handling of multiple segments D) Slow execution

Save Area consists of
a) 18 Words b) 18 Double words
b)18 Bytes d) 18 Bits

MDT consists of ----- bytes per record.
A)6 B) 14 C) 40 D) 80

The type of symbols in ESD cannot be
A) SD B) LD C)ER D) ID

The four tables to be made in the Direct Linking Loader are
A) ESD, TXT,RLD,END B) MNT,MDT,ALA,END
C) MOT,POT,ST,LT D) ESD,MNT,POT,LESA

10

When you write a program in a high level language the path it is likely to follow is
A) Compiler, Assembler , Macro processor , Loader , Binder
B) Compiler, Binder, Loader , Macro processor, Assembler
C) Compiler, Macro processor, assembler, Binder, Loader

D) Compiler, Assembler, Macro processor, Binder, Loader
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* in assembly program means

A) Blank B) Wild character C) current address D) previous address E) Comment




